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Practice 6—5 Theorems About Roots of Polynomial Equations
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A polynomial equation with rational coefficients has the given roots.
Find two additional roots.

1. 2 + 3iand V7 2.3-V2and1 + V3
3. —4diand6 — i 4.5~\/6andﬁ2+\/ﬁ

Find a fourth-degree polynomial equation with integer coefficients that has
the given numbers as roots.

5. 2iand4 — i 6. V2and2 - V3

7. 3iand V6 8. 2+iand1 - V5

Find the roots of each polynomial equation. %
9. 3 - 52+ 2 + 8=0. 10. ¥ + x> - 17x +15=0 ;
1. 23 + 132 + 17x - 12 =0 1203 - x> = 34x - 56 =0 ;
13. ¥ -1&+27=0 14. x* -2 +4=0

15. ¥ —6x2+ 13x - 10 = 0 16. ¥ - 52 +4x +10=0

17. ¥ =582+ 17x - 13 = 0 18. P +x+10=0

19. X -5 -x4+5=0 20. P -12x+16=0

21, P -2 -5x+6=0 22, ¥ - 82 -200=0

23. P+ -5x+43=0 24, 4 —12x2 —x +3 =0

25. B+ 2 -Tx+2=0 26. 1207 + 31x2 = 17x — 6 =0

Use the Rational Root Theorem to list all possible rational roots for each
polynomial equation. Then find any actual rational roots.

27. P+ 522 -2k - 15=0 28. 36x° + 1442 —x —4 =0

29. 23 + 5 +dx + 1 =0 30, 12¢* + 143 —S5x2 —14x -4 =0

3. 583 -1 +Te —1=0 32, 3 + 8162 — 49x — 49 = 0 0(“5\“ U‘b

. . . o i 1.2 -3, V7 23+V2,1-V3 3.4i,6+i
Find a third-degree polynomial equation with rational coefficients tha 45+ \/— 5 \/-1—0 524 _ 8 + 2% — Tx + 68

the given numbers as roots. AR NI S ail
8o 0.2 == 34. 5.2 8.x% — 63 + %% + 6x — 20 9.4,2,—-1 10.3,1,-5
1. -4,-31 12.7,-2,-4 3.3 ﬁ—:“ﬁ

14.-2,—-1,1,2 15.2,2+i 16. 1,3 +i 17.1,2 £ 3
37. -4, 4i 38. 6,3 —-2i 18.-2,1+2i 19.1,-1,5 20.—-4,2 21.-2,1,3

22.10, -1 + V19 23.1,-3 243,2, 5

2,il;l—— 26. —3,—, )

publishing as Pearson Prentice Hall.

35, -1,3+i 36. -7,i
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i-llfz none 31. +1 +ll 1 32 +1,£7, £49;none

33;(377)( +17x—15=0 34X — 52 +4x—20=0
350 - S +4dr+10=036 +Tx* +x+7=0 35
30+ a2+ 160 +64=0 38— 127 +49x—78=0



